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Hr R SRIR AEER) AEER ERB R BRIRA AR (%)
FE FROA R KEE R RN RAEL D) EES (D). (A)
(A) (B) (C) (C)/(B) X100
BHTTE 2,966 12,172 7,026 20,105 1,023 1.65 34.5
B 2F 2,197 12, 461 6,010 16, 942 882 1.36 31.5
B3 2,820 12,021 6,689 18, 889 931 1.57 33.0
B4 F 2,895 12,654 7,258 20, 839 923 1.65 31.9
A5 &E 2, 850 12, 830 1,441 21, 460 386 1. 67 31.1
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BN Bx
FE 4 SR " " FERFEEZIFER
o AR | e
FAEER i oy BORBE | BER0E | RER0E
SRR 153 352 83 1,063 256 674 133
A1 2 4E 226 344 115 1, 146 227 714 205
AF134E 199 288 111 1,229 248 77 204
SHI44E 220 287 97 1,143 315 77 5]
SFI5 4 207 318 117 1,229 342 814 73
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(A) (BEP) #H (B) () RS (B)/(a) 100
e
AL 1,091 5 - 5 - 100. 0
A2 4F 997 2 - 2 1 100. 0
AF134E 1,131 ] - 1 - 100. 0
LS4 E
SHI5 4
BEER
AFITLE 1,000 384 797 384 37 100. 0
A1 24F 1,001 358 71 357 51 99. 7
SF134F 982 323 780 323 35 100. 0
A4 290 902 290 21 100. 0
4505 4F 282 866 282 28 100. 0
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Hr R SRIR AEER) AEER BB BRIRA AR (%)
FE FROA R KEGE R RN RAEKL D) (EES (D). (A)
(A) (B) (C) (C)/(B) X100

SHTE 2,111 9,198 4,199 11,299 790 1.23 37.4
B 2F 2,173 10, 032 3,219 8,591 749 0.86 34.5
B3 2,056 9,527 3, 946 9, 820 801 1.03 39.0
4 E 2,214 10, 124 4,510 11, 812 846 1. 17 38.2
A5 &E 2,161 10, 376 4,124 11,343 386 1.09 41.0
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i T | BEER | mamm | smem
FHTE 2,556 10, 874 2,536 869
B2 HE 2,675 12,021 2,403 837
B3 2,638 11, 664 2, 542 916
T4 5,005 22,454 4,660 1,767
M5 E 2,831 919
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SFITCE 145 89 72 64 - 8
S 2 FE 125 90 70 67 - 3
SF1 3 E 125 87 68 64 - 4
S 4 F 125 73 64 57 - 7
S5 &£ 125 99 75 66 - 9
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